Monday 1st March 2021
Maths
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2) Complete the following questions. Use the bar model if you need to. 
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a) 3 x  1  =  
                      4     
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b) 5  x   1  =
         8 



c) 4  x  1  =                                         Draw your own bar if you need to. 
        6
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Answers:
1. [image: ]  














2a. 3
       4

2b.  5
        8

2c. 4
       6

3.  
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Match the addition to the equivalent multiplication.
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Complete the calculations.

Use the bar models to help you.
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Match the addition to the equivalent multiplication.
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Use the bar models to help you.
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